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1. [FUBIC

gobboiobodobboobooboboobuoobbooboobbooo
ooooooooooooooooooooooooooooon MoEo
gobooooboobboobootboobodbooooboobobooo
gobooobooboboobooo

(1) *Chris has left York yesterday.

(2) *He has been dead.

(3) *He has broken his leg for 2 months.
goboiooboobboooboobbooobooboboooboobbooo
oot oo ooooooobbobobobboboooooooad
gdooooboobobooobooboboooboobooooboobobooo
goboooobooboooobo

OO0 @UDoOO0 Klein (1992) 00 (40000 Chris’s leaving York
oo ooobobobobobbobbobobooooga
000000000 00O0o0oooooooooo®o

0)ooooooooUooOoooooOU0ODOooOOoOoUU0DODOOODOUOODODOD OO
gooooooooooooooooooooboboOooooboobooooobOoo
gooooobDoboooboooDboo
(@ia) Ich have den Brief gestern um sehn abgeschickt.

[I have the letter yesterday at ten sent off.]
(ib) *I have sent off the letter yesterday at ten.
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(4) Chris has left York.

o000 GH)o(ooooDooDooooooooooooooooooo o

ooboobooboboobooboboboboo

(5) TI've given up that idea long ago.

(6) He has worked on Sunday.

(7 I have gone back to visit two months ago, last weekend, and
Just yesterday.

(HOOG)O(OOODO0OD 000D (U0 pp) 00DO0DOOOOODOO

(HDOODO000O0O0000O0000O0n G)O(HIODOOOODoooNOon

goboobboooboobbooobooboooobooboboobooboo

000000 00o0dooo0 KlemOOOOOOOOOOODOOODOODOO

000000000 000000000000 0000000000 00

goboobobooboobbooobooboboooboobboooboooo

gobgoobboboboobobooobooo

000 Langacker (199102110225 OO0 00000000000 OO0OO

ogoooo0obodbD pobooobooboboooboobooooboooo

00 00000000000o0oo o000 oo0o0ououoooon haveld

(iila) Jeg har sovet godt i nat. (Danish)
(iib) *I have slept well last night.
goooo0o0oOo0o0oo0o0ooOooo00oooO0o0ooDOoOooOobDbooDoboOooo oo
00000000oooOo0000U0OO0000UODOoOOOOO0O0 (Ga) ODODOO
goboooboboooboooboobooboobUoobUobDboob oot boboDooo
goooboboboboobooooobuobobobooboooooboobo

0) 00000000 Langacker (1991) 0000000000 O0O00DOO0O0OOOOOO0
McCoard (1978) U0 ODU0OOO0OOOUODOOOOD OOOO Current Relevance O
goooboooooo0oOoooobo0oboOooooobOOoOooOOooboDoOooboOooo
gobooooboooooboooboobobobooiobooboobUoobobnooo
000000000 000000000000 00000000 Klein(1992)00 00O
goooooooOooooOooDoo0oOoDbo0oOoDbo0OoDoOooDoOoooo
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g oooooobobbobobbobbobobobooooga
00doooooooooUoouoooooo KlemOOOOOOOOQoooQ
0000000 (), 3) 0 (Ba,b) 000000000 (&) DDODDO
oooooo QUL ooooooooooooUoooooooooooog
00000000 000000000000 LangackerOOOOOOOOO
goooo

(8a) *For (these) two years, he has been dead.

(8b) *Recently, Chris has arrived. Cf. Chris has recently arrived.
(8¢) He has been dead for 2 years.

(9) He has lived here.
OO000000KlemOOODODOOODOOOOOODOOOODOODOOOOO
0000 000000000000 haveOOOOOOODODO Langacker
(199) U0o0O0o0oU0U0O00 oo0oooooooooooUoooooogo
O00U0ododo havel pp. 00 000000 OOOOOOOOOOOOO
oo ob obbbobobbobbbobobooooooa
0000 Langacker 0000000000000 OO0OOOOODOOOD

2. What Klein (1992) Calls a Puzzle and His Solution

oot pp. 0o bbb
0000000000000 000000 0000 KleinmOOOOOOOOO
(0O)0ooooo0oU0ooOooUooOooDUooooo
(10) Chris has been in Pontefract --- yesterday, in fact.
ooooooooooooooon (999 oooooooooooooog
000 oo00O000ooo00oooo0oooooooooooon opooo
0000000O0000oo00oUooO0o0oUooOoUDooOOooUoooOoo
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000 0000000000000 00000000 pp.00000OO0
gobooobobooboobobooobooboboooboobobooobooon o
O0000ooooooooo0ooooooon (Current Relevance) OO
goodooooooooooooooobbbobooooooooobD Oog
gjdoooooooooobobtobobbbbobbbobuooodoouoooo
00 00D d)ooooooDooooo oooooDoooooDoUuoOooDo
000000000000 oUoUo (2»uoooooogo
(11) *Chris has left NY {yesterday/2 min. ago}.
(12) *1 have learned that at school.
Cf. T have learned that lesson well.
0000000000000 0000000000oogoo Klein O
(13 000O0O0O0Ooooo
(13) P-DEFINITENESS CONSTRAINT
In an utterance, the expression of TT and the expression of TSit
cannot both be independently position-definite.
(Klein 19920 546 (43))
(13) O TT (Topic Time) O OO the time span to which the claim made
on a given occasion is constrained D J 0000000 OO0 haveO OO 0O
O0000000 000 TSit (Time of Situation) OO0 the time of whatever
is described in the nonfinite part of the utterance D000 DO OO0 ODO
Opp. 000000000 CUOUOOODOOODOOOOON haveOOQOQ

goddpp. gooooboobobobbobbbbbbbbbbbbboboog

0) 000 (reference point) 000 00D0OO00O0D0ODO0O0ODODOOODOOOODOO
gooooooooooOooooooooOoOoboooOoOoooOoooOooOboobooboOoOoooo
0000000000000o00ogoogoo
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00000000 KlinOOO (14ab)d0 (15a—¢) 00000000 0O

oooooooooooooo

(14a)
(14b)
(15a)
(15b)
(15¢)

oo

*At seven, Chris had left at six. (TTO at 70 TSitO at 6)
*Chris has left at six. (TTOOOOO TSitO at 6)
At seven, Chris had left. (TTOOOOOO TSitOOOOOO)
Chris has been in Ponterfract. a«@o)
Yesterday, Mary came to Chris’s office at six. But Chris had left
at six. (TTO at60 TSItOOOOODO)

(14a) 00 have DO DOOOOOOOOO TTOODD TSItOOOO O

0O (4p)0ooooooo TTOoOOODO TStooUooooooooooo

gooooboob oobboobobuoobooboobboobbo oo

(15a,b,c) 000 D000 TTOOOODOO TSitOODDODOODODOOOOOODOO

ooooocooooonon

cobobobooobooooooooooooobooooboooooooooon

gogbogooboobbooobooboooboobooboboobbooo

ooboooooooooboooobooOoobooOooooocoOoobooOooooa

00 0000O000o00o0KlemOO0 OOOODOODODOOODOOOOOC

gobbooobooobbooobbooboboobobboobbooono

00 0000000000000 KlemOOOOOOOOOO Harder (1990

4150 11012) OOOOOODOOD ODODOOO0DOOOOODOUODOOOOO

position-definite 00000000000 OD0O00O0OO0OOOOOOOOO

goboooooobooboboobooobooboobobuoobbooo

gogbooboboobooboboobooboooboobboobobooboo

D00000KlemODOOOOOO TTOOO position-definite 0 00 0 00

0000000000 had0ODOOOOODODOODOOOOOOODOO
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dentify 00D 000000000000 OOO0 hadOOOOOOOOOOO
O00000oUUoooooooooooon (dea,b) OODCODOCOOOOOOOO
goooo
(16a) *I had had breakfast and went out.
(16b) *They had lived in Singapore for six years.
(OO0 Singapore 10O O OO0 OQO)
O000KlemOOOOOOOO (1I7OOOODOOOOOODOOOOOOOO
an Yesterday, Mary came to Chris’s office at seven. But Chris had
left at six.
(HO0OoOU0UO0D 0000 hadO0OOO0OOOCOOOOOOOOOOOOO
00000000000 00000000000d at 7 yesterday, leave O
ODO00at6000000000000000O0OCOD00OOO (4b)y0nooon
O00000KlemOOOOD (MO hadOOO0OOO0DO0OO0OOOOO Chris’s
leaving 0O OO0 O0UOOOOO0 (I7YOOOoOOOODUOOo4ooooooDOoOoooo
OO0 (3)uoooogoooooo
oo ooboobooooboobboooboobooboboooboro o
gobooboboobobooboooboobooooboobbooobooboo
Joddboboodboo oo oooboboooobobooobobooogoo

gobooboobboobo

3. REOTTHEDOMLIEHS - 2DD54(4T

gobogopobooobooobbooboobbooboobbooobooo
00000000 000000000 0Oooogn (zerod) OOO (OO
ooo0oO0oO0) ooooOooOobOoOOobobDbOOoOooOobOoOooDoOoOoo
have 0000000000000 O0ODOOD OO0O He has had lunch OO



gbooboobooooooo 19

OO0 SOA00DDDOO0O0O0OO0OO0 hasOOOOOODOOOOO0D SOADDOO
[He-have had lunch] O0O0O0 OOO0 OO000O SOA (haveOp.p.0a OO
0000000000) 00 000000000000 O0oOO000oOoOoo0o
O00000 0000 HehashadlunchOOOOOO OO SOAODOOOO
pgoodddooooooooo

00000 oooOoOoOoOoOooo0 SOAD 00 haveOp.p.Doa 00000
0000000000000 00D [000D0oO000oOoOo0o0ooooo
0ooooo0pp.000000DODOODOODO] OO0 [DODOOODOOO
000 000000000o00oooo0ooooo0oooooooo]ooo
00000000 00000000 o0ooooooooooooooooog
ool oo ooobobobobobbobboboooooooad
oo oooooooboobbbbobobobobobobooo
000000000000000oo00ooooooooonooooooog
oooooooooooooo

1

coboboboooboooooooobooOooOooOoboOoOoOooDoobooboOoooaon
obooooooooobooboooooooooOobo pp.ObODODODO
0000 0000000000000 haveOOOODOOOODODOOOOOO
0000000000000 haveD OO0 OOOD pp.00OODOOOOO
gbooboooooocobooooobooooooooopp.0Ob0ODOOO
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00000000000 00ooooooooO [haveOpp] OOODOOO
000 SOADDOOOO0

®2 TTRASAT

,f’/f).p.D 00O (anterior t\o\RP)<---temporaI profile0 00O O

.
—————————— % <—have

have

000 00o000ooO0o0ooOo0oooooo SOA (DooO) ooooo
ooobooooooooboooboboUdooboooobooboOooobooboOoud pp.O
cooboooobobocooboooooOooOooooOoboOoOoboOoobOoOoOoOooon
coobOoooobocoobooooOooOoO0oOob0oboOooboOoOoOobooOoOoOooon
OooooOoooooggoprofilebODOooooo
goboooooooooooboooboooooboboooboooooooooon
0000000 0000000000000 profile0000O0O0OOOOOO
coooooodooobdooonb oocoob opp.0000D0O0O00OO0OOO
ooopobDoOpp.000O0O0D0O0DOOCODOODOODOODOOD O pp.OO
oobooboooooooooobooOoobobOOoOoDoOoDOoOnD pp.OO
coobOooooboocooboooOoOooOooOoooOoboOoooon
obo0oo0o0oooo0oo0 (pooooooooooooooooooo
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ooooooooooo) oooooooOoooOoooooooooooo
oobooooooooooboooOobOOoOooooOoobooOoocOoOobOoOooooa
ooao

B3 Tk ByA7

have D& 9§ EI&E %
&7 77T ~~y
I_I A :RP
‘ t

pp.0000000O00O0O +anterior to RP §<---temporal profile0 0 O

goooooooobobbbbbbobtb ot pp.0ooooooboboOO
O000d00Dd0pp.0havedOODOOODODOODOOODOOODOOOOO
00000 pp. 0000000000 OODOOOOOO0 OO profiledOOd
O00oooooo (temporal profile) 00 DO ODOO0OOOCOOO0D OOO
dpplbodboooobodbobooboooboobboobboboo
o000 DoDoooooodoyprofileI000 DODO0OOOODOOOOOOO
000D 0ooooooooo (A7oooooooooooooooooooo
gooooobooobooo

000 (182) 000D0O0O0O0O0DO0 [left York] 00000 000000
g ooobobobooboboobobobooooga
gododoogooooboboboboboboboboboboboboobooooooboooo
yvesterday D0 0000000000 profile 000000000000
(18a00) *Chris has left York yesterday.
(18b00) Chris has left York.
(18¢) Chris left York.
(18b) O leaving York OO OO OOOODOOOUOOOOOOOOOOOO
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gl jgoooooooobobbbobobbboobob oo og
000 Current Relevance 0000000 OOOOO0 (18) OOD leave
D00000000000000000000 temporal profile O leave O O
000000 00000000 0o00odnooooooOod relevant O
o oooogoooobobbbobbobbobbobuoodoouooo o
goboooboboboboobbotooboobobooboobboobo
000000000 oooooono (19a-c) DOOOOODOOOOOO
ool oo oooooobobobobbobbobbooo
(19a00) T've given up that idea long ago.
(19p00) He has worked on Sunday.
(19c00) I have gone back to visit two months ago, last weekend, and
just yesterday.
gobofooooboboob bbb ooobooboobobooo
gooogboboboooobboooobDbpp.bbbooobobboOo
(19a)|]DDDDDDDDDDDDDDDDDDDDDDDDDDDDEE%
OOoooo (%) 000 o0o00oooooo oooooooooooooon
O0odooooooo (%) 0doooooooooooooooooog
O00000 000000000 000000 haveOOOOOOOOOOO
0000000000000 (19a—) 0 (9a-) 0000000000 (19
-c)ylOOO0OOoUUoUoUooUooooooooooooooooon (19a-c) O
gboodoboboobboooboobobooboob pp.boboobbo
oo opoobbobobobbbbboooooogoao
(192) 1 gave up that idea long ago.
(19b) He worked on Sunday.

(19¢) T went back to visit two months ago, last weekend, and just
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yesterday.
00 (20a,b), (2lab) OOOOODODOO0OOOOOOCOOOO0
(20a) Have you decided about it?
(20b) Did you decide about it?
(21a) Have you heard the bell?
(21b)  Did you hear the bell?
(200) OO0 O0OD0OOODODOOUOOOUOOOUOUOODOOOOOOOCODOOOO
gooooboobooobooooboobbooboooooboo
(20b) DODODOOODOODOOOOOODODOUOOOOOOOODOOOODOO
gbooobooboobooboobooboboooobouoboboobbo oo
(2la) 00 0UDO0D0OO0OO0O00000O00O0ODO0OO0OO0ODOOOOOOO
000000oooooooooo @2lb) D0oOoOoOoOoooooOoooooog
gobooobooboooboobboooboobobooobooobooo
000l 0000000000 0ooUo0oouDooooooOn temporal
profile 00000000000 0DO0O0DOODO temporal profile 0000 OO
gooo
000 00o0o00oooooo profile000 DO0OO0OOOOOOOOOOO
00000000 ooo0o0o0 00odoUoooooOoo Aoooo
O00oDooooooOprofile0 0000000 (22) DOOOODOOOO
gobooooboobuoooboobooo
22) He has 500 yen.
O0oooooo SOAdI D000 ooOoooUOooOoooooooog
ggobotoooboboobobuooobouobobuoboboboobo
OSOA000O00O0OUO0OUOO0OO0U0OUDOUO0OO0UO0D UOoOOooOoUOoDOO
profile 0000 OO0 (22) 000000000 [He-have-500yen] OO OO
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ol ooooooooobobbbobobboboo bbbl ouooog
O00dUoooooodUdprofile0000000O0DOODOOODOOOOO
0000 0000000000 00o00oo000oo0oo00ooDogon profiled O
gooooooo pp. 0000000000 oonDooo
00000000000 0000 () 00000000 0o00ooooon
goboodobobobbooboboobboooo
(23a) *At this moment, I've gotten only 830 yen in my wallet.
oo ooobobobobobbobboooobooo
gobooobobooboobobooobiobboooboobooooboooo
gobooobobooboobboooboobboooboobooobooboo
ol ooooooooooobbobobobboobobooogoooooo
oot ooooooooobbobobbbobbobobbooooogo
00 havegot 0O OOO0 have DO OOO0O0OO0O00O0ODOOOODODO
goboobobooobooboooooobboooboobbooobooobo
O00o00o0do0ooo0 @3p)idooooooooooogooooo
(23b) At this moment, I've got only 830 yen in my wallet.
(0oooooo)

ol oo oooooobD tboboboobobooooo oooog
0000 (23c) boooooooooooooo
(23c) At this moment, I've gotten only 830 yen.

(the speaker’s raising fund)
OD0000000 at thismoment 0O O uptonow D sofar0 000000
O00o0o0ooooooooooooooonD @4) oooooogoon o
gobogooboboooboobboooboobboooboobboooooooboo
gobooboodoobooboooboobboooboobbobobooobo
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pgddddoouoooooooooo
(24) At this moment, my dog has delivered 5 puppies.
(There could be more.)
Joodooooooooobobobbo obbbobobobooooooogooa
gooobbooboobboobbuoobuoto o obbuoboboo
yesterday 000 000000000000 O0OOOOOO0ODOOOOOOOO
000000 (Zha—e) U0 OOOOOOOOOOCDOOOOD pp.O0OOO
g oooooobobobobobbobbobooooooga
OO0 profile0 0000000000 00O0O0DOODOOOOOOODOO
gobooopoogoo
(252) Jo didn’t tell anybody how he had got into the house yesterday.
(25b)  The ship carried a great deal of alcohol. She had left New York on
November 7.
(25¢) ‘Back in May, 1924, he had asked her whether she would like to
hear the news of the Loeb-Leopold case.’ (A. Christie)
(25d)  She thought dreamily how true the words were she had uttered
vesterday.
(25¢)  Yesterday, we learned that Harry had joined the navy in 1949.
(25f)  He seems to have completed the job yesterday.
(25g) 1 feel great, having completed the job yesterday.
(25h)  You will have heard the news last night.
(251)  He {could/would/might/should/must} have phoned me yesterday.
oot ooooobobboobbbbobobbobouoooa
goboooboobboooboobboooboobooooboobobo oo
goodooouoouoouoooobbbbobobbbbpp.bbbDOO
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O000000000ooon (Z5g-) OO0 ODOOOOOO0OODODOOODOO
00 0000D00o0oDOOobOobOoooo@oono)

OO0 (262) O (262) DOOUOODODOOCUOODOOOOOOOOOOOOO
goooooo pp. 0000000 ooob oo
OO0 @) 0000000000000 0000000000O0O0000 (26a")
ooboobooboboobooobooboo

(26a) 1 have had lunch.

(26a’) He said that he had had lunch.

(26b) 1 ate three hamburgers for lunch.

(26b’) He said that he {ate/had eaten} three hamburgers for lunch.
dddddiooodooooooooooooooooo pp.doooogg
oo bobobbbobbobbobobbobooodoououooo
goboobboboooobboooboobobooobooboboobooboo
gobooobtbooobooboobboobboooboobboonboobo
ool oooooooooooooo
goboooboobooboboobiooboboobooobooboono
goboobobooboobooobooboooboobbooobooboo
O000000oU0ooooooOooo (27a) O had gone through OO OO

gobooboooboobooooooboooboobooobbooobo
ooooogo

(27a)  Jane could not find her passport. She had gone through all her

private papers, but it was not among them. Where could it be?
(27a) O had gone through 00 (27b) O 00O went throughOO OO OO0
0000000 0000000oo00oU0ooDoo0oooooooooooo
ooOoo



gbooboobooooooo 27

(27b)  Jane could not find her passport. She went through all her private
papers, but it was not among them. Where could it be?
goboooboobboooboobbooobobboooooobbooo
gl oooboboboobbobboboooooogad
pgidddoooooooooooboboboboobobbobobbobooouga
goboooobioobboobdoobbooobodbooooboobobooo
goboooboobboooboobboooboobbooobuoobbooo
0oo0ooooooooooooooo @) ooooooooooooo
goboooobgobboooboobobooobooboooobooobooo
oooooooUooooo @y)ooooooouoooooooooooo
goododdooogoooo
(27b) Jane could not find her passport. She went through all her private
papers till late at night yesterday. She tried to remember when
she had last seen 1t this morning but it was not among them.
Joooooogo ()Luoouoiodoonoooooooooooon
Oo0oooooodprofile0 0000000 pp.0000O0OOCOOODOO
goboooobooooboo

(28) Jane could not find her passport. She had gone through all her

private papers till late at night yesterday. She tried to remember
when she had last seen it this morning but it was not among them.
Where could it be?
oo oooooooooboboobbobbo boooooooad
ggboboobuobuodo boobobuoubobuoubooooboo
(272) OUDO0OU00OO0OO0U0ODOOUOO0OOUO0 OD0O0OOOO0DOOOOOOOOo
(29) D0DO0UDOO0UOD0OO0UO0OOU0ODOUU0DDODUOUDODOUDOUOOOOO
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goboobogooboobo

(292) She threw away the present he gave her for Christmas.

(29b)  We reached the hotel before the sun set.
Cf. Before the sun set, we had reached the hotel. (0DO0O0DO :1997)

(292) 0O0OO0O0O gaveO OO had given 0O OO0OO0OO0OO0OOOODOO
OO0O0 (29Cf) O (2%) Doooououoooooooooooooog
gbboboobodoobooboooboobboooboobboooboobo
D00 000 @ra)000000ooooooooooooooooooon
oobooobooioboobobooobooboboooboobooooboooo
ooboobboboboobobooobooo

b ooooboobooobooboooboobooboodooboobo
O000o0ooooooooooon @mw)H)yYooooo pp. 00000 OO
O00000oouooooooo (27) O went through OO OO O O0OOOd
goboobobooobooboboobboobboobboobboboobobooobo
gooboboodoboooobbooobobbooobbooooonboogoo
0doooobooi0obooboobobooboobobooobooooooo

gooboobbooobooboboobobooboboooboOgn pp.O
oo obobobobooboobobgooooooooo
godooooogoooobobbbobobobboobobobddodooooog
gobooobobooboooboooobooboboooboobbooboooo
oobooobooooogo

4. FIFA & DHERI% © Langacker = EARIFEDEEE
00000000 00000000000 Langacker 000000000
g0o0ooooooooobo oooooooooooooooobooboooa
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0000000000000 o0o0000o0OoOooD 000 Langacker (1991)
gobooooboobooooboobbooobooboboooboobobooo
goboooboobboboboobboooboobooooboobbooo
00000000 000000000 o0ooooOooooD oooo Klein
oot ooooooobobobbobbobbobobbobououga
gobooooboooboboooogo

000 Langacker 00000000000 OD0O0OO0OOOOOOOOOO
00000000 haveDOOO0OOO0 OOO0OO0OO00O0O0O Langacker (1991)
00 Langacker (1993) DO 00000 ODOOOODOOOD haveO OO0
0000 B0a) 000 DOOOOO (target) DOOODOO0OOOCOOOOOO
o000 O @obe)DOO ID0DODOO0OO0O0OO00ODO0DOOODOOOO
00 30de,f) 0000 OO0 having adiscussion 0000000000
goboooobooobooooogo
(30a) Watch out - he has a gun!
(30b) T have an electric drill, though I never use it.
(30c) They have a good income from judicious investments.
(30d) He has a lot of freckles.
(30e) We have a lot of skunks around here.
(30f) We have lots of rain here.
00000000000 haveOOODODOOOOO Langackerd 0000000
gboboobooboobooboboooboboobooboboboboboooo
reference point constructions 0 00000000000 O0O00O0 Langacker
00ooo Bla-H) OO ODDOOODOOODOODOO0DOOOO targetd OO0
00000000000 haveOD target 0000000 atemporal relation
godpp.0doooooooooooooobobbbbbbbbbbn
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gooooo
4 : Langacker 0 have 5  BhEhEID HAVE D
—MDA A=TETIL AA=DETN
ootarget-.
- B HzE b . P, DFRG
atemporal
relation

&7

RTERF

00000 haveOD OD0O00OO00OO0O0OO0 pp.00000O0O0OOOOOO
O0000000000000000 000 Langacker 000000000000
O000000000000D00 haveODOOOOOO pp.O0OOOOOOD
coo0ooOopp.OO0OOO0OCOOODOOOCOOOOOOOOOCCOODOODOO
ooooboooooooboooooooooboboooobooooooonn
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000 Langacker OO 0OOO0O000O00O0 pp.00000O0O0OO0OO0O
00000000 Langacker 0000 p.p. 0000 000O0OOOOO0OOOOD
goboodopobooboboboboobobbboobboobo opp.oon
goooooooobooooobooooobobooboo

OoooDoooooooDooooDoo0ooooooooooonog Shaer
(199) D00Uoooooon Bla-H)DOODO0DUOOOUOUOOUOOUOUoOOO
obooooobobogo
(31a) Charles likes fried eggs.

(31b) Charles likes his eggs fried.
(31c) With the eggs fried, he could make the coffee.

(31d) The eggs are fried, not scrambled.

(31e) The eggs were fried in butter.
(31f) Charles has fried the eggs.

Shaer 0000 @Bla-f) 0000000000 OOO0OO0OO0O ‘change of
state’ 000000000 O0O0O0O00O0OOOO00OO00O0DO0OOOOD OOOC
‘change of state’ OO0 000000000000 OOOODOOOOODOOO
oobobodooooooooooooooooooo oooooocobooooa
o0 poooooooooboooooboobO0oooobOooooboooooogo
@Gla-H)00ODOOOOOOOOOO0O0ODOOOOODOOD Glayooooo
0000 Blb-e) 000000000 ODO0OODOOOUOOOD @GIf)Ooo O
0O (00) booooooooooooOooOooooooOoOoD pp.OOOOO
ooboooboooooobopp.00DO0ODOOOOOODOOOOOOOO
oboooobooooo

OoboO0pp. 00000000000 pp.OO0O0O0OOOODOOCCOCOOOO
oo ooooooooooobooboOoooooooooooooooooOod
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0000000000000 0000 00000oouooooono (32a) 00O
gooodoobboobodl oo bbooo
googooobooobtbogoooooobboooubbbooodooobooa
oo
(32a2) He has lived here.
(32b) He has live here for two years.
000 (322) 00 00000000 DODODO0O0O0OoOOoO0OoDoOOoO0O00 ooon
000dooopDo oo hweOOOOOOOD OOODOOOOOOOODOOOO
Jodoobobobooooooobooogbboooooob oooa
liveOOOOO (mperfective000) D000 O0OO0O0O0OO0OOOOOOO
000 (22)0000000000000000O000O0OC0OOOCOOOOO
0000000 ooon (B22)000000000000DOOOO (32b)0O
for2years 000000000000 pp. 00000000 OODOOOOO O
goobobooooboobobooobooboobobooob booobooo
goboooboooobobobooboboobo boboobobooooobo
Jodddoooodl oooooooboboobbooooobooo oooo
gooooboo bbb bboo ooooogoooogo
gooboobobobboooboobuooboboo oboobobboooooo
goobobooboboobouooobobbooboooooboooboobooboo
gooboooooooonooooao

000 @32b) O for2years0 0000000 IDOODODOOOOODOOO
gooobiobooobooboo oo bbboobooobbogoo
000U00oo0oooooooooooonon (32b) DO0O0OD DOoooOog
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godooooboouooooot oo obuoooooooDoo o
00 forthese 2years 0000000000 ODO00OOO0 pp. 0000000
0000000000D0O00O0ODOoUOoOOoODOOoOon
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IA%

oooooboboo pp.D00O0O0OO0DOODODDOODOODDOOOOO
goodboobobobooboobuoboboboobobooboobooo
000000 0o000o0ooooooooooooooooon (33a)od
0000000 0000000000000 000 0000 be in Japan OO
0000000000 000oDooooDooooD 000 @3be)Ooooo
goooboooogo

(33a)  He has been to Japan twice. (OO0 0O0O0O0000000O0 OK)
(33b)  He has been here once before.

(33c)  This is his second visit.
O0000ooooo (B4a) 0000000000000 0OO0

(34a) *Chris has been dead.

(34b)  He has been a student.

(34c)  Chris has been dead for 2 years.

(34d)  Chris is dead.

(G4b,c0) 00000 (Bda) 0000000 OODOODOO0OOOOOOOOOO
b oobbboooboobboobooobobooobboooboooboo
000000 (34a) D0OO0O0O0OO DDOUOOOOO0OOOO0OOOOD OO
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00 (8%) O0000 000000 0ODoO0O00Ooogogo ogo CcG
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(352) *The door has been wooden. (Joooooooooooooo)
(35b)  The door has been open.

000O0Odo (3/bh) DOoooooooooooOoooooooDooOO0O00d0 The
doorisopen 0000000000000 O0OOO0

OO0 KlemOOOODOODODOOODOOOODOOOODODOO0OO0D 0ooooO
ogdoboobooboooboooo

(360 8a) *For (these) two years, he has been dead.

(370 8b) *Recently, Chris has arrived. (Cf. Chris has recently arrived.)
oo ooooogo bbb ooobboooboood
gogouoboooogbuoooobbbooo b obbboooubooog
gobi0ooboboboobboobuoooobboooboobuobnoo ooo
(36) JUU0UO00O0000O0O00 pDo00O0oDO0OUUO0O0DoOOoOoUoD oo
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(36")  For (these) two years, he has been a student.

@GH oooopooooo cf.oop0ooooooooooooooogo oo
OO00000 pp. 0000000000 recently0O0O0O0O0OOOOODOOO
00000000ooo0o00ooD (r)y0DooooO00 haved OO
googooboogddoodooodgogubo bbobooooog
OO000oo0 @GrMyoooodbrecently OO ODDODOODOOOODOOOO
goo

(37) Now, they all have arrived.

(37) *They are here recently. Cf. Chris arrived recently.
000000 (boDO0DO0obO0obOO0O0o0oO0bD) boopooDoooooo
00000 B8a)00pDoooouoooooooono @G8b)yooooooo
od0oo0oo0odoo0ooooooooooooooon B8)yoooo d
gooobooooobooboogno

(382) He has drawn for years.

(38b) He has drawn.

(38¢) He has been drawing.

(38d) He has been drawing for years.

(38¢)  He has been eating the cake.
goooooooooooobobbbobodouboobooooogogooo o
gobooobbooboub oo obboobboooo
000000000 (382)0 (3800000000000 0O0 (382)00
gboooboobobobuooobouobobobobobboobooooboo



36 o 0 o0ogo

G oooooooooooooodooooooooooooooood
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00000000000 (%) U000d0o0ooooouoooooooooo
D0o0o00oooooooonO (profiled0)0 OO0 Langacker 00 OO OO
ugoobooooogo
(3920 3) *He has broken his leg for 2 months.
(39b) He has broken his leg twice in these 2 months.
OO0 D00000000000o0o00 profile000 ODOOOOO0 (3%) OO
00000 ooooo00Doooooooooo0o0 00O brokenOdd OO
gooobobooobooobobooboobooooobobuobooboooooo

D000 (%) 00000000000 0000000 D0oooooo
Obroken0 0000000000000 OO0ODOOOOOOOOOOOOO
goooooboboobbooboooobobooboboobboobo o
O0oooooooo for0000000DOUOUO0OOOOD OOOOOOQ
oo oobobobtbooooooobbd0 igdgoobobooga
goobooobobob oo oobooobboobooboobooooo
oo00o0o0oO0oO0O0O0oO0OO0O0UoUOoOoOoOo0OU0OUOooOOOoOon @B%)oooa
inthese 2months 000000 DUOU0OD0OO0ODOOOD OD0OO0OOOOOO
D0000000ooooo forodOOOOO profile0 000000 ODO0O
gooodboboooobooboobobbooboobboobbooooo
goo0bodboboobbuoobobobobobooboboooobuooboooo
Jd000o00o000ooooooooo0oooo profiled0OOODOOOO
pggooobobootiobobboooboobbuoobbbobbooooobo
gobooooboobob bbb oboboboboobbboooobuobbooobo
000 0000000000000 0000000000000D B%) 00U
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